Review

Concentration
e Concentration is the amount of molecules dissolved in solute
e Formula
c=n/v where ¢ is concentration of liquid (mal/L)

n is the amount of moles (mo|)

v is the volume of liquid (L)
e Example: What volume of water is required to make a 1.05 mol/L salt-
water solution when there is 5.00g of salt(NaCl)?
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Practice Problems
1. Complete the table
Formula Name Formula Name
Ca ® calcium oxide Ca3 il calcium nitride
M9C|2 mb\‘%ﬂﬂ‘ﬂwm CM/@/&L’ ZnCl2 NG Clzr;'\/ohotq
N o aluminum oxide /,)? F silver fluoride
KCl potassiun chior de P4O10 febean phosph orug
decm@pwe}iﬁ«
L strontium oxide %<3 N potassium nitride
NG3N SOO‘(UM m’mdﬂ AICI3 Cluminam Qé”\/‘”tcj\#




Review

2. Calculate the molecular mass of

a. H,CO;3 b. Ca(OH).
= 2UO1) + 1LN.0f) + 3U/6.00) = [(40-08) + 20/6.00) + 24-01)
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3. Complete the following table

Name Formula Molar Mass # of Mass (g)
(g/mol) Moles
Calcium Cnclos pate | CACO3 100. 0% 0.300 20.0
aluminum chloride | A} ¢ |4 155, 2> 0.4 88 65.0
MaGc,NESinMm Mqg(OH 1.45
h\?:i(am'qf)»« 9( )2 58. 5} 2
methanol CH3;OH 19 e o ) 92.0

4. Balance the following reactions:
a. 3M9(s) + QFZCI;;(GQ) SO 3 MgClz(qq) + ;ZFe(s)

b. 2 NHsy + %OZ(Q) i Nag + 3 H20()
C.  CeHeg + S0y —> 0 COzp + 3 H0q)

d. ’5NGOH(QQ) + H3PO4(aq)————> NG3PO4(qq) + szO(n



5. Phosphorus burns in air to form the oxide P4Oiqs).
a. Write a balanced equation for the reaction.
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b. If 2.00 mol of phosphorus react, how many moles of oxygen will

be required?
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c. If 2.00 mol of phosphorus are burned, how many grams of P4Oios)

are produced?
MPO = "IC’JO-q‘i) . 186603 = 283. 88 %"//?Wi
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6. Acetylene (C2Hz() burns to produce carbon dioxide and water vapour.

a. Write the balance equation for this reaction.
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b. If 0.50 mol of CoHa() are burned, how many moles of each
product are formed?
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c. How many moles of gaseous O; will react with 1.00 kg of CoHz(g)?
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7. If 1.02g of salt (NaCl) is dissolved in 575mL of water, what is the

concentration of the solution? _
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